2ERASEHFE B EFjRilE (2D

£ 1 E GRER)
—. EEFER 112/, BER 7 4y, 284 4. EE/NFAEHNENETIR, RE-EFAHBEER.
1. 1% % & A={a,b,c,d, e}B={a, b, e}, ABFA A UB= ( )

A. {a, b, e} B. {c, d} C. {a, b, c,d, e} D. =&
2.BH y=\1- | x+3 | HIENXHE ( )
A.R B. [0, +o°] C. [-4,-2] D. (-4,-2)

31U =R,M ={x|x*-2x>0}, B4 M= ( )

A. [0, 2] B. (0,2) C. (—oo,O)u(2,+oo) D. (—oo,O]u[2,+oo)

4. 9B :x=2; 7, :x+x-6=0, ;4 ( )

A BRZHVEIERSEMH B. AR ZHMIA S IELERMH

C. R ZHMAERM D. FAR WA N FH AR CHLERMY
5. % x=4+2i,y=5-i M| ( )

A. x>y B. x<y C. |x[>|yl D. [x|<]y]
6. A FITELL 2,-3x+4y-5=0 5 2,=6x+8y+5=0 Z [B]HIBEEE = ( )

A.2 B. 3 c.; D;

7.3% tana =1, H cosa <0, ;4 sina= ( )

- - .1 0. 2

8. B AABC th, AB=AG=3, cosAz%,ﬂB/A BC K ( )

A.3 B.4 C.5 D. 6

9. BHIEE a=4, x), [@E b= (5,-2) , H alb, B4 xBYEHR )
A .10 B.-10 C. § D. —§
5 5
10. B|AES A (-1,1) 1B (3,5) IEEBEFNSHMNETHIER )
A. x+y—-4=0 B. x+y—5=0 C. x+y+5=0 D. x—y+2=0

1. 4142k v'=—4x E—mR P Bl DEERS 3, A EREELRRE ()
A. -4 B.-3 C. -2 D. ~1



12. BIg M 6 BEEELHIESL 4 AFSNEEFE S5 S0 REORARLE BLkikBFREC )
A. 180 Ff B. 360 C. 15 # D. 30 Fh

FIE GEEES
=\ ETE 1315 NG, AR 7 4y, 21 4.

13. R y=2sin2x By /NIEEHA=
s s 1 3 8 IO 5
14, T Hh%k y=§ x F—m& P(2,§ )& FIER=

15. NEKBAFRBEMLIE L 5 BPAR, HESAIEHR (B{I:cm) 180,188, 200, 195, 187, ABAF SRR
EAH cm’
=, MRERR 618 NG, BN 15 43, 245 . BENBSHXFIHE, EREREICERE LR
16. (15 4%)
REZLEHF {a, | BOBT n IR S,, B a, =6, 6a, +a, =30, K a, F15,

17. (15 43)

BC=—=4D
WE, FEMRHEL-ABCD s, BC//SEH PAD, 2, RN ADHH L. KiE:
(1) BC//AD , (2) CN// ST PAB.




18. (154
B2, 2] EBEE f(x) =2x" +6x7,

(D SKUEEH f(x) MEGRBE R R, 7k /() ZRARNSHE ME0 1) QBSRE
) KRHERXE [-2, 2R FXEFIHRAER/IME.



SEERRIEN

—. BRI

1-5:CCABD  6-10:DAAAA  11-12:CD
— BT

13. m

14. 12x-3y-16=0
15.47.6
= BED

16. #%:3% {a,} BIAEE T o, FARRIRZIS

a,q =06,
6a, +a,q’ =30.

Ha, =3,q=20Fa,=3x2"",85 =3x(2"-1);
Lg =2,q=3,a,=2x3"",5 =3"1.
17.f&: (1) " BC//3ETH PAD, BC — ST ABCD, SETH PAD ~ JETH ABCD = AD

. BC//AD

(2) B8 (1) %\, BC//AN

BC
X NZ AD B =, 2, .BC=4N,

795587 ABCN B 1TPihR2, ... CN//AB |

S CN ¢ ST PAB, AB < S PAB, .. CN// SEH PAB.

18. 2. AR £(0)=0, AtEG TR S,

f(x)=6x>+12x, ELk £/ (0)=0, f(1)=6+12=18.



AT f(x)=6x"+12x, % f(x) =0, BBEH S x,=2, x,=0
(1) & x<=2 B, £ (x)>0. Bt f(x) BiFiHE.

(2) H-2<x<0 B, f'(x)<0. FEt £(x) BB

(3) & x>2 B, £'(x)>0. At £(x) BB

BT f(0)=0, f(-2)=8, f(2)=40

kit SR B 72 X 18] [-2, 2] EAISKMER 40, &/MER 0.
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